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u(s)  Js+p Jy(t) + py(t) = u(?) .
§(t) = Sy(t) + Su(t)
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[ MATLAB:EE ] [ Scilab;EE ]

2.5.3
 [A, B, C, D] =tf2ss(num, den)* s=poly(0,’s’)
e Ss Pb=ss2ss(ss P, T) H = (4*s+8)/(s"3+3*s"2+4*s+2)

ss P = tf2ss(H);
-
FHIZAMN S
 ss Pb=ss2ss(ss P, T)
2.5.4

* Ss P min=ss(ss P,’min’) e« ss P=syslin(’c’,A,B,C,D)

Ss P min = minss(ss_P)
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y(t) = Cx(t) + Du(t)
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3.1 IRVARTLOBRGE

i(t) = ax(t) + bu(t), z(0) =z

y(t) = cx(t) + du(t) (3.1)

m(t) — CLSE(t), ZE(O) = Iy
y(t) = cx(t)
(3.2) XM

3.9)
dzit) =ax(t) = /d;ét)) _ /a dt = log z(t) =at +C

— $(t) — e
EASEH 2(0) = et = o
ZC(t) — eatibo

y(t) = ce™xg
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(t) = azx(t) + bu(t), z(0) = xg (3.13)
(2)
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©(t) = ae™z(t) + e 3(t)

(3.13) T’Z’ﬁ)\’d_%)
az(t) + bu(t) = ae®z(t) + e** 2 (1)
e 2 (1)
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y(t) = c/ot e hu(r)dr + du(t)
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x(t) :e“ta:0+/ =) by (1) dr
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t
y(t) = ce® g + c/ e bu(T)dr + du(t)
0
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[ fE%E 3.1(2) ]
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